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First Year Higher Secondary Improvenilent Examination
Part - III

COMPUTER APPLICATION (COMMERCE)

Tirne : 2 Hours
Maximum : 60 Scores

Cool off time : 15 Minutes

General In.structions to Can'didates :

o There is a 'Cool off time' of 15 minut,es in addition to the writing time

of 2 hrs.

o . You are neither allowed to rvrite your answers nor to discuss anything
with others during the 'cool off time'.

o Use the 'cool off time' to get familiar with questions and to plan your

answers. !

a Read the questions carefulh' before answering.

oAllquestionsarecompulsoryandonl5'internalchoiceisallowed.
o When you select a question, all the sub-questions must be answered from

the same question itself
o Calculations, figr.rres and graphs should be shown in the answer sheet itself.

o Malayalam version of the questions is also provided-

o Give equations rvherever necessal'y.

o Electronic devices except nonprogrammable caiculators are not allowed
in the Examination Hall.
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bL 
A device that regenerates the

rncomrng

retransmits

destination is called

Which among

communication

the slowest?

a) Bluetooth

b) wi-Fi

c) Wi-MAX

d) Satellite link

the following

technologies is

Observe the following

statements.

a) Internal documentation

consists of procedures for

ins-talling and using the

program.

b) Flowcharts are pictorial

representations of

algorithms.

Choose the most appropriate

answer from the options below.

i) Statement a) is correct

lil 
Statement b) is correct

iii) Both statements are correct

iv) Both statements are wrong

and

their

(1)

signals

thern to

2.

Drr.

(1)

(1)
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1. a) gggJcaaei cuoJcrn micma3ar.6

dJcn o3o'i.l ca1 <31 oo3acor3o ofl ene3o

eJ &yJ crun c cn coml c et 6el" Gro aJdoJao;Jo

oergjJffn device cro6rn' (1)

cocoe oacsJconDlolao3crn

a onr$ernl caonsr o? o sa"c m c gal a,gJ o?

o€lficuJo GcrJ{/)cD a3oaomoi ncGt?

a) Bluetooth

b) wi-Fi

c) Wi-MAX

d) Sarellire link (1)

cocog oacs3caroJl oleei3cm 1"1 cnl:coccl m

ac6 6gr:n1€oJa:

a) G[o-Jc[cDco pc0p;cci o_orgcmJo

go-tcco)ccnldocanJo ggg msotsl

laoeonri cpl6rn- Internal

documentation-cfl pgg6).

b) rsnet"Gocolrulqmloc@ mql lrooccot

oJl trorl aoornoc6rn" Flowchart

rd')coe oacs3orol olaei3cmcl a, rtfl

1610 cnJG colc a; o c cot riil' oil ro o aonn s1

aoJ6.

i) cg6"oocfr' a) coolcorcem"

ii) cg6"oocrfi' b) cnolcorcern"

iii) o6ggc cp36-oocfuo soolarc6ni

iv) o6g3c cgfi"oocrfuo orDfice'nr' (1)

3.



a)4. Write the two's complement

form of the decimal number

-119.

State the benefit of using

two's complement

representation as compared

to one's complement form.

Fill the series.

(151)s. (153)s (155)8

6. Write a short note on Unicode.

* List and exPlain the different

methods for disposing electronic

r,vaste.

OR

Consider that NSS volunteers of

your school have taken up a

campaign to educate your

friends in other schools to

reduce e-Waste. Write four

captions (methods) for the

campaign through which

students can reduce the volume

of e-Waste produced.

8. Write an example of an

operating system that is a free

and open source software.
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-119 ogcrn ocrumiorrfl mcr:urolocf,

two's complement oJoJo

o€)eJrtnJa' (2)

One's'comple-utti, oJolocYb)

orocoladlq" two's comPlement

o3olorollocQ cn3ernour:cfi og;ooogco? (1)

b)

D. Series o:3olgfao3a:

(151)8, (153)8, (155)s

Electronic waste eit'lotcaoJcrnoil

mJgg oJloll <-r.r o cO cnoe cfr

o-flsoalaro1aoJ6.

rcooga,lnil

mlorrg3os cro"a3giloa NSS

orcgendlOocO e-Waste eJoco,r"do3cm

ro3occo/l 6'0r cruog g c 6ru ctuot <o"aoemo

oBJ m:"a3gag|afl msru'mcc0

or'lro3ocmlq3 ogcm" 6oeor46.

roo6Tlrercnocotslrtfl pt [oJelco6rn

ololo-tcslaer" colonel e-Waste ocrtr

6. Unicode ocn a3clg a'3o1ergeJoJ6. (2)

(1)

.' (2)

l.

8.

grO"olCramo a3ocol"oocc6

mrooccoldoScm 4 oJtGcojca;onrfi

cogcocdoJ6.

1o.o1p3o 6lcger6cmlcfcrusoca)

operating system <oroilm3

geccroo6lno o$;eJcoJe (1)
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9. Draw a flowchart for the

following algorithrn.

Step I : Start

Step2:InputMax

Step3:Num=5

Step 4 : Repeat steps 5 and 6

whileNum<=I\{ax

Step5:OutputNum

Step6:Num=Num*5

Step 7 : Stop

10. a) Correct the errors in the

following prograrn code to

display numbers from 1 to 10.

for (i=1; i>-10; i++)

cout>>i; (1)

Explain the different types

of programming errors with

the help of the above code. Q)

(4)

(3)

b)

11. Classify the identifiers given

below as valicl and invalid. Give

reasons for invalidity.

sum, if, -Num 1, Switch, studAge

KR.71 4
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9. cr)cCIv arercs3camlolaet3crn c'roaflccncolnr

rnro11m3 flowchart tir)gcocaoJe.

Step 1 : Star"t

Step2:lnputMax

Step il : Num = 5

Step 4 : Repeat steps 5 and 6

rvhileNum<=lVIax

Stc'p5:Outp:-rtNum

Step6:Nunr=Num*5

Step7:Stop (4)

10. a) I c3c1..., 10 crieoa;iag cocr.Ljo;re,uz

1o: rracnf l gf 6o3cm G [cr_Jo(cDco Gacc(l)"

(0@)6rn" dJolos eraos3cannilolao3crn

or. polleret o0n6J6ri ro-llo3orul3a.

for (i=1; i>=10; i++)

cout>>l; (1)

b) a3,agiafl eracs3oldlrolao3cm G&ca!-

p_o-Leoccnli crflcu'i<l cooo

programming error aogaoJ

tlig o-11oo1eo3a. (2)

11. G)coe eracs3ramjlrol.eo3cm identifier

rtfl m)co3clJcaDcdlJo {or0mrccD3ctcatcoJo

(oCIo rurlrolao3e'. (0rom)cu)3otco.rrnrl ocf,

6cti)6lDo o€)e]CIJA.

sum, if, _Num 1, Switch, studAge (3)



13. a)

'12. If a = 5, b = 7 and c = 3, predict

the output of the following

expressions

a)a
b) b% a

c) (a>c) && (a<b)

d)a/c (2)

What do you mean by a data

type? Cornpare the

fundarnental data t1'pes char

and int available in C++. (3)

Write the declaration in Cr-+

for a variable that can be

used to store height of a

student. Justify, \r'hy you

" have selected this data type

in the declaration. (1)

b)

14. Explain the Cifference between

f loat g=9 . B ; and const f loat
g=9 ' B;

15, The memory sze of float data

type in C++ is .......... bytes.

a)2
b)4
c)8
d) 1o

KR-71
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12. a = 5, b - 7, c = 3 roloo5rnslo?,

cocs')g oacs3orololao3crn

expressions ercfl outPut ogeJcolJa-

a) a<c
b)b%a
c) (a>c) e.t (a<b)

' d)a /c (z)

13. a) Data type ogemcot ng)cnD"? C++

oel fundamental data tYPes

GrOaJ char, int ngcrnloloco)

riDcCIfiIroJo orJglJe. (3)

b) o:oJ otlr:;c6onlaiJos P@oo

m3anl aoJor ccnegg C ++

variable declare odgJe.

declaration' m" colenei cnleoec6

go-rccorcoil 4; data tYPe

colroeterurosJaoccnJgg &co6IT)

eroooi? (1)

L4. ,to"a 9=9 .B; and const f loat

g=9 .B ogcrnlru cormlaJAg cUJcdr)ccruo

oJlo-rro1ao3a. (2)

i

15. C++ erer float data type ercr! oomol

size ........,.... bytes ruro6rn:.

a)2
b)4
c)8
d) 10 (1)
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16. Predict the value of 'b' in the

following C++ code after

execution of each code snippet

a) and b). Justify your answer.

a)a=5;b=a++;
b)a-5;b-++a; (3)

OR

What is the role of comments in

a program? Explain the different

ways to write comments in a

C++ program.

17 . Rewrite the following C++ code

using if . . . else statement.

large = (n1 > n2) ? n1 : n2 ; (2)

18. Consider that your teacher is

planning to connect the

computers in the computer lab

of youl school to form

network.

a) He has a switch and a hub to

connect these computers.
' Which one would you prefer?

' Why? (2)

b) Name a topology that you

will suggest for this network.

Give reasons for your

suggestion. (3)

KR.71

16.

252

cocoe oacs3ru'm1to1ao3cm C++ G&cil)"

ecaeaech a), b) ngcrnlol execute

oot co.r"o'rro1m3 G(oogo 'b' col o?

g6r.13c6Scrn oJelJo n$cnD"?

m;ccoflaoldoJe.

a) a - 5; b = a++;

b)a=5; b-++a; (3)

rooogarlnfl

aoJ c1o-rcicncolcfl comrnents ocQ

gctjca)cc/)o o.c)Clor"? C++ c1o-rclcnco'lrtfl

o{Jd)tDflco olrolcold comments

o$gJrTrco ?

t7. tocoe eracs3ru'mj1o1aer3cm C++ c6cnt.-

if ., . else cg;g:elocrfr go-rccocoilg

ocal o9v3ro3a.

large=(n1 >n2)?n1 th2; Q)

18. mlong3os croel;coracCI acruggO

ercenjloer aruJJSoJecA olom.r"o.too

-dglo: 6rto3 om6ru6ao-

gerreceoccfr gcgooleo3cm3 ogcm"

eo3(T)3e:

a) roo c g oo ruml o cQ ol aei cfl p ol

<oool d enl md gl aercot dlo3

switch po 6loJ hub eo g6re'.

polafl ogrocern" mlff3d

roflooornDsJ€oJe. o9cr0)eoacene"? Q')

b) pTc om8:olOaejlm3corsrrel cnleoBc6

cnlOcecnlaer3cro topology n€loi?

' Glo.flrJgg acoemoBcCI o6;v3co3a (B)

6



19. George needs to prepare for a

seminar on'Backwaters in

Kerala'.

a) Name any search engine

through which George can

get information about the

topic.

b) Explain the working behind

the search engines to display

the information about the

seminar topic.

(1)

(3)

20. Consider the relation grven

belou'.

Social network : facebook.com

Which among the following

share a similar relationship as

the above?

a) micro blog : blogger.com

b) social blog : twitter.com

c) content community :

. youtube.com

d) internet forum : linkedin.com (1)

21. Remya has got a job at a call

center. What is a call center?

What kind of job does a call

center provide? (3)

KR-71 Turn Over
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'cscOglcri carogo^ndloa accora3ac6'

o€)ffn crjlogcoroororH8l elroa eimtolmca

cD$CoC6O6'rno.

a) cscOdlcri pt oJlovcoeromao3olgi

oJlcrrooue(n errelaoccrl

mloocco.fldoJcrn o63ororn1a3o

search engine ocr! co-rooe3o3e. (1)

b) Search engine a,uI pt
oJ1 di @ooroao3ol gj crn q ootn c0

mcfl a3cmrcri, roooil ocf, o-l1crn1 el3gg

1o-r o: 0 rrmcn 5TB o g€o3cr"J oJl or ol

6oJ6. (3)

20. cocoe oacs3rorolroloer3cmcl cooola#ag

6'DJffrDo 6gedaO3a.

Social network : facebook.com

o3aglcfl oacs3runrrlo1ao3cmrolm3

cruoccnoca) ouorDo al3dlgf eei3cmoi

cocoe oacs3corololaer3cmollafl cnlcm3o

ccilooeronnsA€oJ6.

a) micro blog : blogger.com

b) social blog : twitter.com

c) content community :

youtube.com

d) internet forum : linkedin.com (1)

2L. ooJ6o" eio3 call center afl csceJl

erdlgJ. call center ogycmcnfl o6col"?

Call center oer csceIl o6ooc6m"? (3)



22.
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eulcrulmm-ilnfl
Cru

22. eicen?erererc0

clr c 6uBJcrn o) c $Jo cu1 cfl ao3crn coJ c $Jo

rorool ar3gp ol6'rDo ooeoc6onDlcn' rocog

oacs3ondl oleo3cmor a, afi og3to.,J tulglo

Gro6m" go-r colc cnl ao3crn oi?

a) .electronic business online

b) electronic payment system

c) business process outsourcing

d) online payment system

23. switch cg6"oocQlercQ syntax

og1v3<or1 rc'rororlercfr [oJcuaoromo

gccooo6'rnm)oo1 oo cr-fl corJlool6oJe.

23.

OR

Compare the working of

do . " . while loop and while

loop using an example.

24" Almost all desktop computers

have keyboard and mouse as

their standard input devices.

List and explain any other five

input devices used to enter data

into a computer. (5)

I

The system used for financial

exchange between buyers and

sellers.in an online business

is ...

a) electronic business online

b) electronic payment system

c) business process outsourcing

d) online payment system
t

Write the syntax

statement. Explain

using an example.

of switch
its working

liitlii:.Li:
i:il'S:w'
J::i it:.{,'
i:iiiiiii
]ii:'llilt:i

t':':4.t't+t!!,.

(1)

(5)

do -"::-,:T, whire roop

ngcrrilo.J <ooolafl 1n.lotdonrrmoola3gg

orJolcffDo gBcooo6rnonnla3os

oJlcroalorolao3o.

24. o€loc6're" ngflc ooum,r"a"cttF

ecruJJ3o3ac0aer3o a'lceruc6ru3o

. orDTcfDJo rooool"la;(6')oca) pal.-:a5

devices G'o6rn". amtggolea€o" data

enter oergccnJgg o6 ogoruralel3o 5

pa1"-ra$ d evic e aergao3ol d
oJlcranoccoIl ogeJroJe. (5)
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